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26 B 2 KB 341 47 217 185 30 63 7 1 0 72 18 21 28 2 1 1 1 4 3 431 .389 .820
6 g —&% AR 294 44 182 153 25 45 9 0 0 54 25 23 17 6 6 0 22 4 1 .386 353 739

1 SHBX KB 257 46 194 17 19 44 16 0 1 62 27 23 12 6 2 3 3 0 3 323 363 .686

2 B RAE KBR 2243 46 183 148 30 36 5 2 2 51 17 31 26 5 2 2 4 2 3 .370 .345 715

4 ZH IEA KB .203 45 159 133 24 27 3 0 0 30 11 13 19 2 5 0 20 4 5 312 .226 .538

244 : KB 1.000 1 2 2 0 2 0 0 0 2 1 0 0 0 0 0 0 0 0 1.000 1.000 2.000
27 HIE BN KBR 333 19 50 42 4 14 3 0 0 17 1 4 5 1 2 0 0 0 2 A7 405 .822
32 EA E PN 324 17 41 37 3 12 1 0 0 13 4 2 1 1 2 0 4 0 0 .359 351 .710
42 RE &= KB 286 3 7 7 0 2 0 0 0 2 1 1 0 0 0 0 0 0 0 .286 .286 .572
43 HTFE 5t KBR 277 14 58 47 10 13 0 0 2 19 8 9 10 1 0 0 6 3 1 414 404 .818
9 M R KB 271 17 75 70 14 19 0 1 0 21 7 12 3 0 0 2 9 2 3 293 .300 .593

41 ek AR PN 250 13 30 24 3 6 1 0 0 7 2 3 5 0 1 0 2 0 0 379 292 671
22 faiE =4 PN 225 31 99 80 9 18 3 0 0 21 " 10 10 3 5 1 0 1 1 330 262 .592
7 BH —3h KBR 223 42 130 12 9 25 5 0 0 30 14 18 13 3 1 1 5 3 2 318 .268 .586

EIEPN PN .200 13 27 20 4 4 0 0 0 4 6 3 4 0 2 1 0 0 0 320 .200 .520

24 IV AR KB 200 34 85 75 10 15 1 0 1 19 5 16 6 0 3 1 6 2 1 .256 253 .509
30 B & PN 200 8 6 5 0 1 0 0 0 1 1 2 0 0 1 0 0 0 0 .200 .200 400
31 AHE =0 KB 190 23 63 58 4 i 2 0 0 13 6 18 0 2 0 0 0 0 230 2224 454
10 fRaRit PN 189 38 114 95 5 18 0 0 0 18 13 10 1 1 6 1 2 3 1 278 189 467
43 )1y B3 KB 162 12 39 37 3 6 2 0 0 8 2 18 1 0 0 1 0 0 0 179 216 395
3 A TE KB 130 10 28 23 3 3 0 0 0 3 3 6 4 0 1 0 0 0 0 259 130 .389

8 SH BA KB 119 32 48 42 7 5 1 0 1 9 0 17 3 1 2 0 4 1 1 196 214 410

42 e s KB .059 8 17 17 1 1 0 0 0 1 1 7 0 0 0 0 0 0 0 .059 .059 118
35 H &E KB .000 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 .000 .000 .000
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35 HH &E KBR 0 0.54 35 0 0 0 3 1 8 1 4 750 501/3 777 32 0 60 14 4 0 0 6 3 0.91
13 Rk MER PN 7 1.48 9 1 1 1 3 2 0 2 2 .600 482/3 686 32 0 37 15 0 2 0 il 8 0.97
38 ENITREPN PN 12 2.32 20 1 0 0 4 7 1 1 2 .364 851/3 1254 73 0 49 27 4 1 1 40 22 117
15 [E & Th5e KB 13 3.31 22 0 0 0 5 5 0 1 2 .500 812/3 1323 57 0 71 53 1 9 0 38 30 1.35
48 il HERI-TL KR 0 0.00 3 0 0 0 0 0 0 1 1 .000 21/3 34 2 0 1 0 0 0 0 0 0 0.86
29 Rl& R PN 5 2.47 14 0 0 0 3 0 0 2 2 1.000 432/3 693 33 1 34 20 4 0 0 12 12 121
15 B &5 PN 13 3.31 22 0 0 0 5 5 0 1 2 .500 812/3 1323 57 0 71 53 1 9 0 38 30 135
19 Hd R PN 3 3.93 19 0 0 0 3 1 0 3 4 750 362/3 686 39 2 32 27 1 5 0 18 16 1.80
45 BRF PN 4 4.45 15 0 0 0 1 1 0 1 1 .500 281/3 515 25 1 37 n 1 3 0 19 14 127
1 SHBX PN 1 5.40 1 0 0 0 0 1 0 0 0 .000 12/3 51 4 0 2 3 0 2 0 5 1 4.20
17 FTA4RLT KR 1 7.23 13 0 0 0 2 0 0 1 2 1 18 2/3 401 14 0 26 16 5 1 0 16 15 161
14 SN RE KBR 0 7.36 4 0 0 0 0 0 0 3 3 .000 32/3 57 3 1 3 1 0 0 0 3 3 1.09
41 ek KA KBR 1 9.00 4 0 0 0 0 0 0 1 1 .000 6 89 8 0 4 3 0 0 0 6 6 183
28 BA &+ KB 0 9.00 2 0 0 0 0 0 0 0 0 .000 1 18 0 0 1 1 0 0 0 1 1 1.00
43 )11y 53} KBR 0 18.00 3 0 0 0 0 1 0 0 0 .000 3 622 7 0 3 0 1 0 0 6 6 2.33
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